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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

4 All the questions including objective-type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6 Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

7 In case of any doubt or confusion in the question paper, the English Version will prevail.

8 Write your Question Paper code No. 69/MAY/4, Set— | A | on the Answer-Book.
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(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours
only.
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General Instruction / ™= 7891 :
1.

Answers of all questions are to be given in the Answer-Book given to you.
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15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.
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Note : (i) This question paper consists of 51 questions in all.

s
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(i)
(iii)
(iv)

(V)

(vi)

(1)

(ii)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - carry 2 marks each (with 2 sub-parts of 1 mark each).

Attempt these questions as per the instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(c) Q. No. 48 to 51 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

4 U H A 51 U B

gt 9o arfard ¥

Ud% U % ofp e i ™ E

gz ‘o § wfafa ¥

9. @ 19 20 SEaead™ yeR & 9T (MCQs) ¥, 9% 1 &% & &1 9dh

9T # fau g 9R fqeedl # § W99 Suge faeed @l ghey faeer g

gz ‘v N uftafad ¥

Y. G 21935 —udeh 2 3l w1 & (1 3 &b &1 SU-HFN) | 3T Ul &

S yd% yT H faw Mo fdsmgEr difw

gie ‘@ A aftafa ¥

(@) 9. € 369 41 — 2 3l & orfaddy SAUTE YBR & U ©, ot
SaX 30 ¥ 50 gt § AT ¥

(b) W. ® 429 47 — 3 3%l & @Y IAUEH YHN & YT &, [ I
50 9 80 sl I §)

(c) W. § 489 51 — 5 3ipl & < ITAUED YR &b WA &, Fapr T
80 ¥ 120 sraf ¥ AT §I
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SECTION - A

geE — A
1  Which of the following is not a profession ?
(A) Engineer (B) Business
(C) Chartered Accountant (D) Doctor
frrfefad & | wF—ar dem 78l B 7
(A) SR (B) =gTE™
(C) e e (D) =TT
2 refers to the process of buying goods and services.
(A) Business (B) Commerce
(C) Employment (D) Trade
eI @it dael F @A @Y R H GaRia we
(A) =IaE™ (B) afisg
(C) TS (D) =MR
3 The liability of Karta is , while that of the other members is
(A) Limited; Unlimited (B) Limited; Limited
(C) Unlimited; Limited (D) Unlimited; Unlimited
&l & A ¢, SEih o el @l 2
(A) diftre; srdif (B) difa; wiftra
(C) ordiya; difta (D) ordifya; srEifd

4  Gokuldham Society is made by a group of people in which these members
are to construct or buy houses of reasonable cost. This is an example of :
(A) Cooperative Housing Society (B) Cooperative Credit Society
(C) Marketing Cooperative Society (D) Producer’s Cooperative Society
MPAd™ TEE AN & Th G5 &0 a1 T3 ad 3 939 3fad @ 9X =%
T | Ted ¥ ge ¥ | 98 3HHT U SR &
(A) TEH oA |t (B) wedrl % affd
(C) fauue Teawrdl afifa (D) TdEs FEwr it

1
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5  Which of the following is a demerit of a partnership firm ? 1
(A) Unfair distribution of profits (B) Unlimited liability
(C) Unlimited Managerial ability (D) Dominance of one partner
TR BH &l (Fatad 3 § a1 39 & 7

(A) @9 &1 Ffad Tz (B) ot sl
(C) it wareiE & (D) TH WEER & g
6  Reliance Industries Limited is a company. 1
(A) Private (B) Public
(C) Subsidiary (D) NGO
e s=e faies uw HAL B |
(A) fo=ir IR ICEIRE
(C) we™® (D) TA.SaM.
7 is the process of exchanging information and understanding 1
between two or more persons.
(A) Motivation (B) Leadership
(C) Cooperation (D) Communication
= ofiye el % A gE S g9H % STEM-Ua @l UihdT § |
(A) gzom (B) g
(C) w&am (D) "=}
8  Online-Banking provides service to customers : 1
(A) 8 hours in a day (B) 10 hours in a day
(C) 24 hours in a day (D) None of these
AeTEd ST el B WAl WaH Bl &
(A) T 9 8 gue B) &&= % 10 gwe
(C) f&1 & 24 gue (D) 399 ¥ B3 &
9  The insured is expected to disclose all the important facts related to 1
the property insured. Which principle is discussed here ?
(A) Mitigation (B) Indemnity
(C) Insurable Interest (D) Utmost Good Faith

SETURE § UL %I STl & {6 I it geaf & waivad g weeqel qedl & garan
Y| Bl fepe Rasgicl ux =l @1 g ¥ 7

(A) sw= (B) etfergfet
(C) W f&a (D) U FEHTE
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10 Neeta saves Rs. 5,000 every month. Which type of Bank Account she 1
should open with the Bank ?
(A) Current Account (B) PPF Account
(C) Recurring Deposit Account (D) Savings Account

a1 B ®EW 5,000 B399 S9! ¢ 39 % H {9 diE @1 9% Wl @i aned ?

(A) <] @ (B) Wdiuw. @ran
(C) ol ST @ (D) s=d @
11  Arun mortgages his factory to Varun and gets loan from him. Varun gets 1

it insured for fire. Which principle of insurance is applicable here ?
(A) Principle of Insurable Interest

(B) Principle of Utmost Good Faith

(C) Principle of Indemnity

(D) None of these

U] ST BT TEUT bl RIET TEar & o S8 @9 odl & | 9&9 § 3 § 9419
% foTg S ST waran| at a1 @ B faEid an] e § ?

(A) Smrarg & @ fagia (B) U HgHET &1 fasia
(C) ety b fragre (D) T & B A
12 For heavy equipment, which of the following channels is more relevant ? 1
(A) Zero-Level (B) One-Level
(C) Two-Level (D) Three-Level
A SUHIN & foQ, Frefaiad § @ SF-91 o9 9 ffis T § 7
(A) LI (B) wd-wX
(C) T—=X (D) W9-®X
13 Mail Order Selling isa  channel of distribution. 1
(A) Direct (B) Indirect
(C) Sole (D) None of these
A offeX AfefT fqqor T wep A9 B
(A) v (B) smwa&
(C) ued (D) ¥ ¥ B &
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14 “Advertising is any paid form of non-personal presentation and promotion 1
of ideas, goods and services by an identified sponsor.” Who stated this ?
(A) Australian Marketing Association
(B) China Marketing Association
(C) European Marketing Association
(D) American Marketing Association
‘IR fepdll i ARE T I fohaT g8 R—aateRaTTa TRl S fepdll weam Mg
Urist & feam, axgen ofiR denstl &l TR 87| g8 fohe @wer?

(A) emeferarg faqor &=
(B) < fmwm wm

(C) i Fqur ww
(D) emfe fquom &9

15 Advertising influences the mind of the consumers by creating desire and 1
taste for:
(A) Old Products (B) New Products
(C) Same Products (D) Difterent Products
fostom Susieret & 99 H 3% AU 39T o @R YaT Hie 3% ywifad wI @
(A) T S (B) T w@r
(C) =& 3= (D) ST TG
16 The right to  refers to the right to be safeguarded from products 1
that are harmful to one’s life or health.
(A) Consumer Education (B) Safety
(C) Seck redressal (D) Information

1 a1t fordl =afer & iras a1 w@meest & fog sifere Il & griba @
% SATYHR Bl FHT BT S|

(A) e firem (B) gram
(C) Tarwr & 79[ &I (D) gaT
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17  Which of the following statements is true ? 1

(A) The Consumer movement in India has led to the formation of various
organizations locally known as consumer forums or consumer protection
councils.

(B) They guide consumers on how to file cases in consumer court.

(C) They do not represent individual consumers in the consumer courts.

(D) Both (A) and (B)

frfafad & 9§ S HYT T & ¢

(A) 9T & Ui e o fafa=r wreHt & Ted & o e & R e
€0 ¥ IUHGAT H9 A7 IUHGAT @A IRWg b ®I H AT Sl §

(B) o IUHIITST B IUHIRT ETAd & AHW Tof B & dib & I H ARG
B 2|

(C) I SUH ETaal § AfeaTa Suureratl &1 ufid it T8 & 21

(D) (A) i (B) <l

18 Which of the following is not a responsibility of consumers ? 1
(A) Seeking redressal for grievances
(B) Being aware of their rights as consumers
(C) Checking the quality of goods before purchasing
(D) Using pirated software and media
frafafed & & BF-—1 B SRS B e 8§ 7
(A) Treemat @1 ferer &
(B) Uil & & ¥ U4 AR & Ufq SEd BT
(C) @ied ¥ UBd MM & TUEl bl g BT
(D) URIeE |IwdyT ST HIfEdT &l SUAE BT

19  An occupation with which opportunities for advancement or promotion 1
can be availed off in life is known as:
(A) Career (B) Wage-employment
(C) Self-employment (D) All of the above
Jg aE™ fTah A1eg ¥ Sed § I a1 GaHG % STaE W Y S 9ahd g,
SH ®Ed B

(A) &ET (B) Gdas Uerm
(C) @WUer (D) SUTEd aHl
20 Entrepreneur often is known as : 1
(A) High risk bearing (B) Moderate risk taker
(C) Low risk bearer (D) Prefers risk free business
SEl R oY 39 ®9 § ST S ©:
(A) S=@ Sifgq I3 a1 (B) #em® SiRed @ an
(C) &9 Tgq o« ar (D) Sifgw Jod ed™ T6e & a1
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21

22

23

24

SECTION - B
gug — q

Usha and Kiran pursued their Masters Degree in Business Management 2

from a reputed institute of Mumbai. After completion of their studies, both of
them got engaged in different fields. Usha got a job at an Oil Refinery Industry
as a Junior Executive Finance. Kiran joined her family business of Textile
Industry at Ludhiana, Punjab. Name the type of industry, Usha and Kiran
worked as highlighted in the above case.

HUT B foptor 3 g & yiafted e & foome fee ¥ arex ol eifea &t
3T TeTs T T & 18, TFI STAT—STET & | T 75 | HUT Bl Tk Tad NBEad
= ¥ IR T Wigad & U WX A e g1 fewer giemn, dene
THACTEH ST % U TGN aad | 9Nl & T3 | SUX 91 ¢ Amed A forg
TE & AN H S X o ¥ &y fhar, Iq&1 w9 IqEU|

Write True or False : 1x2=2
(a) The principle of ‘one person one vote’ applies to Sole Proprietorship.

(b) It is necessary to get every company incorporated, whether private or
public.

T a1 oe fafay :
(a) Ushd @@ 9 Tk AR Tk A’ & Hgid ar] 8l §1
(b) UAH B BT FIRT BT SMETS §, IR I8 Tl B AT wrdei |

Ajeet started his Travel Agency in the year 2020 by taking a small room on 2

rent in Shimla. He invested money and efforts to build his business. Quality
and timely services provided by his Travel Agency made him popular in Shimla.
Identify the form of business organization owned and operated by Ajeet.

ottt o fymem ® o 2020 ¥ A U UH BT HAW AHT ST ST Tarl & B |
IR STUAT FIE I & T 48 o Y8 @I IR Sad Towl &1 USH @l
T3 T[T S T UX Garett 7 S fvAar # Wil 991 ) eia & @it ik
GO 910 Fa9d G & W@EY Bl gga bl |

Fill in the blanks : 1x2=2
(a) Walking with a straight body posture shows .
(b) communication flows through officially prescribed channels.

o wm
(a) WY R & T3 & T T gorfar 21
(b) AR onfyaiiies &9 9 uiftd d9@l & Areaw ¥ gared ear §1
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25 State the full form of the following: 1x2=2

(@) CBS (b) UPI
frrfafad @ quf &a e
(a) wrErTa. (b) Jdv.emE.
26 Best Answer Test: 1x2=2

(a) Suman needs leave at work. Which method of communication will she
use ?

(b) If a person communicates to other with the help of pictures, symbols,
diagrams, will it be considered visual communication ?

Td 9v6 IAT T

(a) FAT Bl BM U G| DI AR § | I8 HAR B fohg fafer a1 suanm waf ?
(b) afs &5 =R fal, T, ol S TEEd § AL ¥ Ha &Iar &, af &
38 399 EEX §ET SO ?

27 Give answer in one word: 1x2=2

(a) Can an illiterate person be issued Debit Card ?
(b) Name the system which can be used for both fund transfers and bill
payments.

% 91 H IO I

(a) o ANfufa =t &t Sfee & S fhan 1 wehar & 7

(b) IT WU T M FARY T START %8 WY iR fqa@ e <= & fog
fopar S Gebar T

28 Fill in the blanks: 1x2=2
(a) insurance is not covered under General Insurance.

(b) The maximum limit of time for fire insurance is year.

o e w1
() d\T A T % STl haX \Tel el g |
(b) aftw 1 % foe awa & srfuman dmn ¥ %)
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29 Now-a-days we have such a digital payment system under which the user 2

can do financial transaction by presenting his Aadhaar Number and Finger
Print / Iris. The user can use this facility only when his bank account is linked
with the Aadhaar Card. Because of Biometric Authentication, it is the safest
digital payment system. Name this payment system.
STTSTehe AT U THT fSfied Ta yomell @ fieeh d8d SuarTehdl a1 STe T
3T R fie | omsfa wga e fadi AFaT T |ahal & | SURRTeT 36 gierem &t
SYANT THT BT ThAT & ST9 ITHT S @IAT SHR HS A foidh &1 | qRAHTCEH TG
% B qE e GUAd A Tl ¢ | 9 I JOel 6l A gy |

30 Mrs. Shalini Gupta got her life insured by ‘Bajaj Life Insurance 2

Company Ltd.” and ‘Life Insurance Corporation of India’ for Rs. 20 lakh and

Rs. 10 lakh respectively. She survived upto the end of the fixed period. What

type of ‘Insurance Contract’ is indicated in Mrs. Shalini Gupta’s insurance
contract in which two insurance companies are involved ?

A QNI T+ STUT STe S qolel A15% 3991 HAT fafes’ 8fiR ‘9rRdd
Stres ST FE | wHe 20 W 59 S 10 A1 $9Y 6 wiarn| 98 i sty

% i qb Siifad <ol | Sl STie! [T & S Sag 9 f6d Y a1 S sy’
gotiar T & free <1 e wrtEl o )

31 Write True or False: 1x2=2

(a) A distribution channel is the path by which all goods and services must
travel to arrive at the intended consumer.

(b) Retailer channel member transacts with the final consumer.

T AT o faray:

(a) UH fqaor 99« 98 At & s wemm § o axgetl ofk daret & sfea
SUHIERTT T Uga b g I HEA AMfey |

(b) G fashar o@ W@ SIf<aq UEHh & A1 Wed Bl 8 |

32 Fill in the blanks: 1x2=2

(a) is not flexible as the message is once fixed it cannot be altered
again and again according to the customer.

(b) Advertising helps in educating about different products and
their use.

ICSIROICICEE

(a) AT 6l & FiTh Yy Th I qF & S & 918 39 Uedh &b TR
IR-9R &l Tel ST Feball |

(b) fosme fafvr= TamEl ok THd U= & av o ! f31a B o Fer
HIAT

69/MAY/4—215_A | 1 I m AW [ Contd...



33 Mr. Rajeev, a production manager is a patient of diabetes for which he takes 2

medicines regularly. One day, on his tour to Ambala, he met with an accident
and was hospitalized. Due to doctor’s negligence a delicate nerve of his left
leg was cut rendering him crippled throughout his life. Identify the consumer
right that has been violated by the doctors under the Consumer Protection Act,
1986 in the above situation.
A i, T ST TEEE & o wgHE & N ¢, frads fag 3 Frafa w9 qarsat
A § 1 U fe, SiETar & d WX S gHeT B 5 SR 9% ST H WAl M US|
ST %I ATILATE! % BT 3 U UT B T AN[d 99 6 T3, T I S}
% foTe erdw &1 o) suiea Rufa o Suwie @xeu aifafaw, 1986 % d&d SR
B SwiEd [T T SUHIRT e &l qear &Y |

34 Write True or False: 1x2=2
(a) National Commission consists of a President and six other members.
(b) Consumer awareness is making a consumer aware of his rights and
liabilities.
I a1 o fafeaw -
(a) ST ST H TH arege iR B: oY TS B ¥
(b) SUHT SFTEhaT &l 31, IUHIGAT Bl SHb SIHRI 81X A b T

STE® HAT & |
35 Fill in the blanks : 1x2=2

(a) An individual who initiates, creates and manages a new business can be
called an

(b) Entrepreneurship is a  activity.

o @\ W

(a) U AR S Teh 9T FHI AT & 3T Yaferd wiar & 39 HET
Hehll & |

(b) watemus  widr §
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SECTION - C
gog — |

36 (i) Vinod wants to start a business organization but he is afraid that in 2
case the assets of his business fall short of repaying the liabilities, his
personal assets could also be used to repay the liabilities.

Suggest Vinod which form of business organization he should start so
that his fear comes to an end.

ol u% =radiie e & &I dmedl @, dihd 39 ST & b oY 38h

AT %I GHR, IASIRAT Bl I % [0 BH S T3, A1 SHe! el grara Hi

SR &l g & [0 SR & o1 debal & | faig @t gema & 6 39 form

qE B HAGHIS TS & BT Aoy qMMh SHBT ST TH & MU
OR / g

(1)) A new cooperative store has been set up in Chandigarh through registration
under Chandigarh Cooperative Societies Act. It was set up to provide
residential accommodation and civic amenities such as roads, parks, street
lights, parking etc. to its members at lower cost.

Identify the type of cooperative society being described in the above case.

GENTE FEhHTA T STRITH & SIwaiid USiieh vl & A9 ¥ TSre § Tdh a0
TEhT WX T fopam T # | Se! TITUAT ST9 TSl &l 9 @ITd U SIareg
fw & T o

STYF AWd 9 afd gewrd Aifd & ThI dl ed He |

37 State any two advantages of Newspaper Advertising. 2
THER U fIsT & @i A @ 9qigy|

38 What is meant by Right to Safety ? Explain with example. 2
e & IR o R SIfHuT ¥ 7 Sareil afed wwssu|

39 Explain the Bureau of Indian Standards Act, 1986. 2
ARA A S SAfatEd, 1986 &1 auie Hifvg |

69/MAY/4—215_A | 13 I m AW [ Contd...



40

41

42

43

44
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State any two responsibilities of consumers.

SuHiEe @l fhel A Bl & Sei@ wifsy|

What is meant by Consumer Protection ?

IqHISAT G0 § T Ay B 7

(i)

(ii)

What is Business ? Explain any two characteristics of business.
IO By wed & P eE & el A fastodren w1 avie ity |
OR / 31y

What is meant by Water Pollution ? Explain any two causes of water
pollution.

A UGUOT ¥ R AU B 7 S YU b Rl A Hl & auie i

What is E-Banking ? Explain any two types of E-Banking services.
S-Sk T BT & ¢ 3T Famstl % el & YRl Bl Sei@ it |

©

Banita, Promil and Veena do wholesale trade in readymade garments.
They got their godown insured for Rs. 10 lakh only by ‘Reliance General
Insurance Company’. A few days after getting the insurance, the godown
caught fire and the goods worth Rs. 6 lakhs only were destroyed. They
succeeded in getting compensation on their loss from the insurance
company. The firm sold off the half burnt goods and got Rs. 50,000
only.

Who will be the claimant of this amount, the firm or the insurance
company? Also explain the principle of insuranace applicable here in this
case.

i, Wi SR AT YEHE BUST &1 A IR BT & | S8 319+ TETT
a1 AT T 3991 HHT § A 39 WG S99 § BEardn o7 | S Ham
% B [T 918 & MM H SR @ 15 X 399 TET had B: TG &9 B J1d
TAHT TG & T d G BT A JHA Bl IS U H 9 & TS |
®H AT W@l gl Wiw 9 feamn ok 3= A 50,000 vy fied |
9 TR BT IEIR B BN, BH AT ST AT ? 39 A § AR W1 61 Rgia
D A AT BT

OR / a1yt
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(i) Aman took fire insurance policy of Rs. 25 lakh for his factory at the
annual premium of Rs. 40,000. In order to avoid higher premium, he did
not disclose that a highly explosive chemical is being used in his factory.
Due to an accidental fire, his factory severely damaged. The insurance
company refused to pay the claim as it became aware about the highly
explosive chemicals. Can Aman claim compensation ? State the name of
“Principle of Insurance™ violated here.

3\ 7 S9! el & forT 40,000 B98 anffer Wiftw X 25 @@ B9y &1 fie
7 difedl o | 9od Wit | 999 & fie, See us gaw T e 6 gEet
Hhedl § ot foamied M &1 SUART o O T 1 Sl ST W
% I SHD! hael B AL THA Tl | T BT o FTAT 37 | FABIK B
foar =it S8 oty fomhied WAl & 9 ® 9ar 99 T AT| T S
TS I AT HY Gobdll & 7 T8I Seaia 1Y T “FHT % Ragia’” a1 M Iarzg|

45 What is meant by Television Advertising ? Explain any two advantages 3
of Television Advertising.

Seilfaar fasmos @ @ sifyura B 7 Telifae fasaa & fepel & &l b1 avie eI

46 (i) What precautions do you suggest to consumers while purchasing 3
medicines from the market ?

IR ¥ TARAT TS 9 39 SUHGASH Bl 1 AEen-al aia bl gHa
ECI
OR / 3t

(i) How does the Government of India protect the interests of consumers ?
Explain with three examples.

AT GhIT SUHIRNAT & &l @l e hd Bl & 7 o4 S & i oy |

47 Explain any three possible areas of Self-employment. 3
@SR & el O gefad & &1 auie sifse)

48 (i) What is E-Commerce ? Explain any four advantages of E-commerce. 5

- T EIAT & 7 3B & fhel AR @Al bl Guie BT
OR / 3@t

(i) What is meant by Industry ? Explain any four types of industries with
suitable examples.

SET | T YT & 7 SUYA IQTE0N b |1 IENN % fehrol A T Bl JU
HIFTY |
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49 Ramita, after passing her 10th class examination decided to open

a small eating joint of her own along with two of her friends in the name of

‘Apna Bhoj’. Each one of them contributed Rs. 80,000 towards initial capital.

They also decided to share profits equally and that each of them will be liable

for the acts performed by other two.

(a) Identify the form of business organization which was set up by Ramita
and her friends.

(b) Explain any four characteristics of that organization which is identified
in (a).

AT A 10 Y el DBl TOET UTE Db b 918 3T &l A b Qe Mt S1a dst’

&% W H TH B9 I @ie & g e o ) | Qe T el ISt % &9

% 80,000 TUY 1 ANEM f>T| I=H 19 bl T &Y F AT B Dbl HHAT (A

MR 9 § Y% o J &1 fhU T drat o fw SaeEr sl

(a) rar o SHS Il ER Wit SJad™ W8T & WEY @l Yed ®i |
(b) TE WA &I B3 IR fIAAE FqrF S (a) H TN T ¥

50 What is meant by ‘Channels of Distribution’ ? Explain any four services
distributed through direct channel with example.

fIaTor & o9 § & MM B 7 e 99| & "iedH 9 faafia &l ST arenr el
IR el & SSELU gied IHSRU|

51 (i) Explain any five factors you would like to consider while setting up

any small business.
B3 O 99 Hd Sdl (5= T his W BT Ggad W &id G99 &
¥ @A 9|

OR / 3yt

(i) Who is an Entrepreneur ? Explain any four functions of an entrepreneur.

I B T? Tk STUl &b el I HrEl Bl gud BT |

69/MAY/4—215_A ] 16 0Tt



This Question Paper consists of 51 questions and 16 printed pages.
T 99— § 51 997 70 16 Y y= ¥

Roll No. Code No. 69/ MAY/4
T FE |
set /% - |B

BUSINESS STUDIES
(caTaentas 3teaaq)
(215)

Day and Date of Examination

(aven ;1 T 7 foi)

Signature of Invigilators 1.

(Friverni & TwnER)

General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

4 All the questions including objective-type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6 Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

7 In case of any doubt or confusion in the question paper, the English Version will prevail.

8 Write your Question Paper code No. 69/MAY/4, Set — |B | on the Answer-Book.

69/MAY/4—215_B | 1 I m AW [ Contd...



(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours
only.

L1 I G G I

1
2

Tl YeT-UF & UEd Y UX SO STmAS orasd ford |
FUAT YT B W@ o fF U9 & HA YOf qUT YA DI Iadl o G & Al
YT U b G99 SHUX BU ¥ @ 9 B WAd N B o 6 U e w9 F T
JEgFTs gedt F el IR fawedt (A), (B), (C) A1 (D) ¥ ¥ &I Tk IAX gAAT & aT
A TS II-YRaE H HEI I faE |
JEgfTss el & wro-—ary gl el % Iax Mgifa sty & fiax & ¥ aggiTe
gl & fau e ¥ sy el fer s
ST-gRad ¥ vEaH-fag s ot fide wel & efafea @l W ogwdie faes
W et B g IEE SR
et Bl ulte B o hegpeiey, WIS BF, U, TICEM 9 B Y seiazitie Susmie
B T T BT SACT TE T
-0 | ol W YR % Haw e gigen & Rufa § SN ergae € " Enm|
AU ITX—gRABT TX TT-UF B BIS F. 69/MAY/A, W — |B| g
(@) WU Haw /RS F T AT o, afy oy AR @ M & ¥ R we W
F I T WHA D
aish, f&dl, 9, demer, €@, aftd, w@ded, &S, da, A, Sfedr, e,
hiepull, AMTYL, ST, U, HAR, &b oK e
FuAT sa-gradl ¥ iy U gie § fod 6 omu few AW # I W@ w €|
(@) afy oy &S wd ool & orfafvea fopell o @ & S fo@d &, af weAl @l
e M e e | R e e B L G UG e e e

General Instruction / ™= 7891 :
1.

Answers of all questions are to be given in the Answer-Book given to you.

Yl G % A SATYRI < T ITX GRaenT F B fored |

15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y9951 I UG o 10T 15 feie o1 a9 f&am 7 8 | we—u=t @1 faaeor aiue & 02.15 591 fopar
ST 02.15 57 § 02.30 S5 O BT dhad F9T-95 Dl T 31X 37 AT % S o SA-gRa!
X BIE IAT T fA@ |

-

J
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Note : (i) This question paper consists of 51 questions in all.

s
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(i)
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(iv)

(V)

(vi)

(1)

(ii)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - carry 2 marks each (with 2 sub-parts of 1 mark each).

Attempt these questions as per the instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(c) Q. No. 48 to 51 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

4 U H A 51 U B

gt 9o arfard ¥

Ud% U % ofp e i ™ E

gz ‘o § wfafa ¥

9. @ 19 20 SEaead™ yeR & 9T (MCQs) ¥, 9% 1 &% & &1 9dh

9T # fau g 9R fqeedl # § W99 Suge faeed @l ghey faeer g

gz ‘v N uftafad ¥

Y. G 21935 —udeh 2 3l w1 & (1 3 &b &1 SU-HFN) | 3T Ul &

S yd% yT H faw Mo fdsmgEr difw

gie ‘@ A aftafa ¥

(@) 9. € 369 41 — 2 3l & orfaddy SAUTE YBR & U ©, ot
SaX 30 ¥ 50 gt § AT ¥

(b) W. ® 429 47 — 3 3%l & @Y IAUEH YHN & YT &, [ I
50 9 80 sl I §)

(c) W. § 489 51 — 5 3ipl & < ITAUED YR &b WA &, Fapr T
80 ¥ 120 sraf ¥ AT §I
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SECTION - A
goE — A

1  The right which gives the consumer, freedom to choose from a 1
variety of products at competitive prices is :
(A) Right to safety (B) Right to be informed
(C) Right to consumer education (D) Right to choose
g SAfHT S SR bl Uit el 9 fafi= Sael § § g @l @adn i 8

(A) & &l AR (B) gfud foy s &1 sifaer
(C) Suste frem @1 erfer (D) g™ @ AfBR
2 For heavy equipment, which of the following channels is more relevant ? 1
(A) Zero-Level (B) One-Level
(C) Two-Level (D) Three-Level
I UG & foQ, Frfarad § & S o e IrEhes § 7
(A) JE-ET (B) T
(C) T—= (D) d9-®
3 Which of the following is not a profession ? 1
(A) Engineer (B) Business
(C) Chartered Accountant (D) Doctor
frrfafad & | ®F—a1 Y9 78l 7
(A) FSER (B) =aE™
(C) TRE apreee (D) sfax
4  Reliance Industries Limited isa  company. 1
(A) Private (B) Public
(C) Subsidiary (D) NGO
e gefis fifes ©v @l B
(A) foir IR ICEIRE
(C) wErE®d (D) TAS.a.
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5  “The consumer has a right to file a complaint and to be heard in case of 1
dissatisfaction with a good or a service”. Which right of the consumer is
highlighted here ?

(A) Right to be heard (B) Right to be assured

(C) Right to safety (D) Right to be informed

‘U Bl T T9 B i foREl a%g A1 W1 9 odR BN WX gAdls @l
SATBR T TeT IUHG b fhH ABR X Yehler STel T & 7

(A) garEs &1 SIfsr (B) STIgamas &l STfeen<
(C) e &1 At (D) & &I 3B
6  Advertising influences the mind of the consumers by creating desire and 1
taste for:
(A) Old Products (B) New Products
(C) Same Products (D) Different Products
oo Sueret & 7 ¥ 3k fU 39T SR Wie Ual Bk 3% WHiad & &
(A) g $Q (B) g S@@
(C) <&l SR (D) ST IS

7 The common name for ATM, Debit Card, Credit Card, Metro Card, etc. is : 1

(A) Electronic Card (B) Smart Card
(C) Visa Card (D) Master Card
ey, g BE, Hise BE, A BIE, MG B AT IH &
(A) FeEiveE HE (B) @ %E
(C) 9 & (D) AR B
8  Which of the following statements is true ? 1

(A) The Consumer movement in India has led to the formation of various
organizations locally known as consumer forums or consumer protection
councils.

(B) They guide consumers on how to file cases in consumer court.

(C) They do not represent individual consumers in the consumer courts.

(D) Both (A) and (B)

frafaiad & @ dF-—a1 HU § 8 7

(A) 9RA ¥ SuHieT m=ied o fafq=1 et & Teq & 9= fear & i e
Y Y SUHRI O AT ST SE IRUg % ® F A1 AT §

(B) I SUHIEST @l SUHGT STETd N HHW Tof BT b dlh &b S § AN
B &

(C) I IuHIoT SETadl o AferTa Iusigamet & uid ffuea & & 21

(D) (A) T (B)
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9  Neeta saves Rs. 5,000 every month. Which type of Bank Account she 1
should open with the Bank ?
(A) Current Account (B) PPF Account
(C) Recurring Deposit Account (D) Savings Account

AT B HEM 5,000 TUY S 21 S db W {hH qXE @1 d6 @i @ien diey ?

(A) d @ (B) d.O1.T%. @
(C) el ST @ (D) s=a @
10 An occupation with which opportunities for advancement or promotion 1

can be availed off in life is known as:

(A) Career (B) Wage-employment

(C) Self-employment (D) All of the above

Ie T f9h Aeqq ¥ Sied ¥ I 91 GEid & el UK Ry S "ahd g,
SH FEd &

(A) »iax (B) waa TR
(C) s (D) syt @
11 Can a minor be a member in a Joint Hindu Family Business? 1
(A) Yes (B) No
(C) Partially Yes (D) None of above
R B3 AT g ferg af@r & Faag § 9a & 9ol & 7
(A) = (B) i
(C) arifyrh ®u ¥ & (D) IWa & ¥ g T
12 Mail Order Selling isa  channel of distribution. 1
(A) Direct (B) Indirect
(C) Sole (D) None of these
A oEX QAfefT o s wep 39« 8|
(A) @& (B) evaaE
(C) Tebed (D) ¥ ¥ *E &
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13  Arun mortgages his factory to Varun and gets loan from him. Varun gets 1
it insured for fire. Which principle of insurance is applicable here ?
(A) Principle of Insurable Interest
(B) Principle of Utmost Good Faith
(C) Principle of Indemnity
(D) None of these
TEYT AT HIR@HT F&0 Bl [T [T & 3 IHY W4 ol & | I&01 4 & § 41
&% o "t 1 wRamn| Tt S H B Rgid @R g § 7
(A) Ry feq & Rrefa (B) W ggwEAT & Rt
(C) gl @ frafa (D) T & B T

14 Gokuldham Society is made by a group of people in which these members 1
are to construct or buy houses of reasonable cost. This is an example of :
(A) Cooperative Housing Society (B) Cooperative Credit Society
(C) Marketing Cooperative Society (D) Producer’s Cooperative Society
TP TEE @R 6 Th T8 0 991 T3 ad 3 939 Sfad @ X ')
N [ @leT § 96 ¥ T8 9B T SaedW &

(A) HEHI e Gl (B) wE&r %or |kt
(C) fayuvm geardr il (D) SdEH TEdRl At
15 Advertising is an important source of revenue to : 1
(A) Public (B) Media
(C) Advertisers (D) Government
fasmoe e ® UE Ragt 9id §
(A) SHEar (B) +ifsan
(C) fasta=aTan (D) @R
16  refers to the process of buying goods and services. 1
(A) Business (B) Commerce
(C) Employment (D) Trade
qege ST et Y @O @) R & GaRtd b ¥
(A) =gaE™ (B) =g
(C) TSR (D) =R
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17 is the process of exchanging information and understanding 1

between two or more persons.

(A) Motivation (B) Leadership
(C) Cooperation (D) Communication
31 A1 Sffues AfeTdl & A AT X G & SEH-US Bl Uik 5|
(A) om (B) ~iged
(C) wear (D) #=x
18 Entrepreneur often is known as : 1
(A) High risk bearing (B) Moderate risk taker
(C) Low risk bearer (D) Prefers risk free business
Sl {5 1Y 39 ®9 H S0 S @
(A) 3= SfEH I3 AT (B) Hem® SRgd @ el
(C) ®® WiRgH @ drel (D) Sifaw qod FIH™ qEe HA a1
19 The liability of Karta is , while that of the other members is . |
(A) Limited; Unlimited (B) Limited; Limited
(C) Unlimited; Limited (D) Unlimited; Unlimited
Al B I ¢, Salh o= Hewl @l 2|
(A) dife; i (B) diftra; @it
(C) ordiya; difa (D) orEifya; srEifd
20 The insured is expected to disclose all the important facts related to 1

the property insured. Which principle is discussed here ?

(A) Mitigation (B) Indemnity

(C) Insurable Interest (D) Utmost Good Faith

TR ¥ STUeT % Sl & o I8 S gt § TeIi-ad g4 Fecqul qedf & gam
B | Tl fope Fasia O == @l TS B 7

(A) ™= (B) afaqfd

(C) dmmary fea (D) W HEHTEAT
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SECTION - B
gEg — q

21 Fill in the blanks : 1x2=2
(a) In Life Insurance contract the insurer must have insurable interest at the
time of
(b) The amount paid by insurer to the insured on happening of any contingency
is called as

e @ =
(a) e dmr o # dHeRal & U g S arg f&q gAT a@nieul
(b) forel 1 eTeiETehar % Afed &M U SHThdl &1 SITHd Al @l A @l T8
TR Bl HET A ¢ |
22 Fill in the blanks: 1x2=2
(a) is not flexible as the message is once fixed it cannot be altered
again and again according to the customer.
(b) Advertising helps in educating about different products and
their use.
o e
() AT T2 ¢ i WY U X T & W &b 918 IY USH b STIAR
YRR §&l &l S el |
(b) fosmus faftr= SamEl ofik 39% SUA & ak o ! Bt e o werEar
AT
23 Mrs. Shalini Gupta got her life insured by ‘Bajaj Life Insurance 2

Company Ltd.” and ‘Life Insurance Corporation of India’ for Rs. 20 lakh and
Rs. 10 lakh respectively. She survived upto the end of the fixed period. What

type of ‘Insurance Contract’ is indicated in Mrs. Shalini Gupta’s insurance
contract in which two insurance companies are involved ?

AT ST T[T STUAT SHiae ST Tl A5 39 Sl fares’ 8iR ‘arar
Stre &1 R | wAen 20 9 B9 S 10 A B9 1 Hiarn| 98 Maiia srafy
% 3d Tqeb Sliterd e | Al e [t & 1 Ssrd § e Wb &1 S e’
T T & FSEH 1 M HEeTEn o | |
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24 Fill in the blanks : 1x2=2
(a) An individual who initiates, creates and manages a new business can be

called an .
(b) Entrepreneurship is a activity.
o @\ W
(a) U Al SN Th 1 HaHT G911 & 31X Yaad dhidm & 59 HET ST
el B |
(b) Safar us Tty 2|
25 Mr. Rajeev, a production manager is a patient of diabetes for which he takes 2

medicines regularly. One day, on his tour to Ambala, he met with an accident
and was hospitalized. Due to doctor’s negligence a delicate nerve of his left
leg was cut rendering him crippled throughout his life. Identify the consumer
right that has been violated by the doctors under the Consumer Protection Act,
1986 in the above situation.

At TSI, Th IART US4 & 3N AYHE & WM o, e fag o Frafa & 9 gargat
WA 2| TS o, SiaTar &b SR U Il GHET & TS S 3% ST § Wl el gsT|
STFRY B AUIETE! % HBIRY Ik U U &I TH ANH 19 He T3, Ned I Haaag
% fTQ o7dw &1 U Iuied Rafq o ST W@ aiftem, 1986 % ded sty
BT Iwed fpY T SUHIERT ST @l Ted e |

26 Write True or False : 1x2=2
(a) National Commission is set up by the Central Government.
(b) The State Commissions and the District Forum are set up by the
State Government.
I a1 o fafau -
(a) TSI AT @B TS g GIHR ERT AT Sl 1
(b) [T SN 3R el BT &1 T T TR g {hal a5 |

27 Write True or False: 1x2=2
(a) A distribution channel is the path by which all goods and services must
travel to arrive at the intended consumer.
(b) Retailer channel member transacts with the final consumer.

T a1 o fafga:

(a) UH faqawwr I°a a8 wnt ¥ frad wregw & @t axgett ofk danet &t sfesa
SUIRT T Uga &b g I ST Aifey|

(b) Weax fahar I9w e AT UTedh & 1T WG BT o |
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28 Best Answer Test: 1x2=2

(a) Suman needs leave at work. Which method of communication will she
use ?

(b) If a person communicates to other with the help of pictures, symbols,
diagrams, will it be considered visual communication ?

U I8 AT L&

(a) AT B B IX BZE DI @R ¢ | I8 HAR Dl {6 [t &1 Iuanm & ?

(b) afs &5 =R fal, T, ol S TEEd § @Y ¥ Ha &Iar &, af &
38 399 TAR W SO

29 Give answer in one word: 1x2=2

(a) Can an illiterate person be issued Debit Card ?

(b) Name the system which can be used for both fund transfers and bill
payments.

THh o H IAX AT

(a) 1 rfifaa =afea @t efee @& S fopam T et B 7

(b) IT WU %1 M FARY e START % WY o fq@ e <= & fog
fopam < @b 1

30 Ajeet started his Travel Agency in the year 2020 by taking a small room on 2
rent in Shimla. He invested money and efforts to build his business. Quality
and timely services provided by his Travel Agency made him popular in Shimla.
Identify the form of business organization owned and operated by Ajeet.

areiid 3 fimar # o 2020 # A 9 UH BT AU WAHT AU SAd Tordl % |
SE U FIEd S99 & T 49 ol UAr @I | I°eT Sad Tl &1 YSH 6l
TS T[T S T U Ganatt 7 S e § Wil 997 ) eria & @t ik
O I qaH™ A b WY hl YA DifTd |

31 Write True or False : 1x2=2
(a) ‘Centralization of power’ is one of the limitations of Joint Hindu Family
Business.

(b) Experts who help promoters in the promotion of a company are also
called promoters.

g a1 o faRgu -

(a) ‘HOT B HEEAHOT GIH o5 AR FIEE & el § ¥ % |

(b) REl BT % YAR H Yadd! &I TeTddl BT I fagwst B 9 Jadd el o 5 |
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32 State the full form of the following: 1x2=2

(a) CBS (b) UPI

frrfafad @1 quf & e

(a) wrarTa. (b) F.dv.emE.

33 Fill in the blanks : 1x2=2

(a) is a process of transmitting messages to large number of
scattered audience.

(b) is the person who notices and decodes and attaches some
meaning to a message.

o @ W

(a) Tdh G Bl IS8T &A1 H fq@l g Al a% gda &l Wihar 2|

(b) T e & o fedY d@91 @ Tfew wean ¥, sHe o freran ®

3R IEH PB ord Sedr ¥l

34 Now-a-days we have such a digital payment system under which the user 2
can do financial transaction by presenting his Aadhaar Number and Finger
Print / Iris. The user can use this facility only when his bank account is linked
with the Aadhaar Card. Because of Biometric Authentication, it is the safest
digital payment system. Name this payment system.

SIS BHIL T8 UHT fefiied A Uil & 56 q8d SUarTehal a1 SR =<
3T R fie | o e e fadii AFad T |ahal © | SURRTEHT 36 Giarem &t
UGN AT B hal & 99 IHBT S WIAT IR B ¥ i &1 | qramfees Jamoie e
% BT I8 T GAUAT AN YUl §1 39 A GOnel & A Saisy |

35 Usha and Kiran pursued their Masters Degree in Business Management 2
from a reputed institute of Mumbai. After completion of their studies, both of
them got engaged in different fields. Usha got a job at an Oil Refinery Industry
as a Junior Executive Finance. Kiran joined her family business of Textile
Industry at Ludhiana, Punjab. Name the type of industry, Usha and Kiran
worked as highlighted in the above case.

Tl 3R fopRor 3 g & wfafted weam ¥ faeme fede o A i aifea &
3T UeTs T T &b G, I STAT—STET & | T T3 | HUT Bl Th Mg NEEAd
o6 ¥ R Telidfed BEAE % 97 W Al e 11 fevo gitam, gee @
THIZT FSET P AU Ui Fada ® A & T3 | U ST T A |
qE & AN ¥ SO MR fheor & & fpar, I9a&1 S IqEu|
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SECTION - C
gs — 9

36 State any two responsibilities of consumers.

SuHiEet @ bl A el & Sei@ wifsy |

37 Explain the Bureau of Indian Standards Act, 1986.
AR 96 G Atatad, 1986 &1 auiF HIfT|

38 What is Consumer Protection Act, 1986? Mention its advantages to the
consumers.

SN G Srfyutam, 1986 @ ¥ 7 SUWESl Bl 399 N ar |y 9qisu|

39 State any two limitations of Radio Advertising.
UG fqsma ol bl a1 sl &1 Seei@ i |

40 (i) Vinod wants to start a business organization but he is afraid that in
case the assets of his business fall short of repaying the liabilities, his
personal assets could also be used to repay the liabilities.

Suggest Vinod which form of business organization he should start so
that his fear comes to an end.

e ue gauiiie Ged & ST AEdl §, dihd 39 S & {6 o IHS
AT %I GHR, ITEIRAT B gbM % [0 BH IS T3, A1 SHe! el grara |
ST @l g & [0 SR 6 511 debal & | faig @t gema & 6 39 foem
TE P HAGHIIS TS & BT dMeT ANk SHBT ST TH & MU
OR / 3@t

(1)) A new cooperative store has been set up in Chandigarh through registration
under Chandigarh Cooperative Societies Act. It was set up to provide
residential accommodation and civic amenities such as roads, parks, street
lights, parking etc. to its members at lower cost.
Identify the type of cooperative society being described in the above case.
TENTE WEHIL AT U= & Tia Ui & ATedd § dEMe 9 Ue T4
Fenr R wfd forar a1 3 | SHe! WA 1o §e@l & &H ArTd IX STTam
g @ T3
SUYE AWd § Al gewil aifd & Th dl e Hi |
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41 What is meant by Right to Safety ? Explain with example. 2
T & ATHeR o FT ATHI ¢ ? I dled TS|

42 (i) Banita, Promil and Veena do wholesale trade in readymade garments. 3

They got their godown insured for Rs. 10 lakh only by ‘Reliance General
Insurance Company’. A few days after getting the insurance, the godown
caught fire and the goods worth Rs. 6 lakhs only were destroyed. They
succeeded in getting compensation on their loss from the insurance
company. The firm sold off the half burnt goods and got Rs. 50,000
only.

Who will be the claimant of this amount, the firm or the insurance
company? Also explain the principle of insuranace applicable here in this
case.

i, W 3R ST LSS HUST &1 dich AU HICT & | IV G T B
1 AT SR 39T AT | 915 TF @1 B9 H I o7 | ST HE
% P8 T a1 & TMem F o @ W X I9H @1 hAd B: A 69Y B A
TAHT TG & T d G BT A JHA B IS U H 9w & TS |
®H F oTET W@l g AW 99 feAr i I= A 50,000 w9 fHa |
39 T &1 AR B B, BH AT S91 ST 7 39 A9e H A0 991 &1 fgia
@l |l e Bl
OR / 3@t
(i) Aman took fire insurance policy of Rs. 25 lakh for his factory at the
annual premium of Rs. 40,000. In order to avoid higher premium, he did
not disclose that a highly explosive chemical is being used in his factory.
Due to an accidental fire, his factory severely damaged. The insurance
company refused to pay the claim as it became aware about the highly
explosive chemicals. Can Aman claim compensation ? State the name of
“Principle of Insurance” violated here.

EE F o9 therdl & foT 40,000 BUY anfifer Wiftw ux 25 @rg Bug &l Afie
T Uiferdl @ | 3Td WHTH § 999 & 04, 369 9% YAl el [6dl {6 Saeb!
hedl § gty famhice T & SUEN a1 ST @1 ¥ | SNBRd ST W
% BT SHHT Bl B W JHAW oM | ST HHOT + FMET &7 H AR BT
f&ar it SO orafue fawhed @Al & 9 H U1 99 AT O7| R S
HIATEST I AT HY Gohdll & 7 T8I I (6T Y “HHT % Ragia’” a1 M IarEg|
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43 (i) What precautions do you suggest to consumers while purchasing 3
medicines from the market ?

R | IA3dl WG GAT 3119 IUHIRIST bl FT QEEEl i bl G
g
OR / 1y

(i) How does the Government of India protect the interests of consumers ?
Explain with three examples.

T G SUHIERTEN & f&dl @ e e Bl & ¢ | SETe vl & iy gHesu |

44 Explain any three possible areas of Self-employment. 3

WU & Tl A gefad &5 &1 9o shifeg |

45 (i) What is Business ? Explain any two characteristics of business. 3
IO fhe wed & ¢ eE & el A fastodren @ avi ity |
OR / 3t
(i) What is meant by Water Pollution ? Explain any two causes of water
pollution.

A YUY R ST ¥ 7 A UG &% fhel a1 BRI T Ui it |

46 Explain the procedure for depositing cash in Savings Bank Account. 3

TG G | ADhal ST BT DI UhAT &I IUN BT |

47 What is meant by Television Advertising ? Explain any two advantages 3
of Television Advertising.

e fasmos @ @ il B 7 Soiifaad fasmae & el S @l &1 avie s

48 (i) Explain any five factors you would like to consider while setting up 5
any small business.
&5 A1 U HRE JaN T o9 Bz W Bl FaE™ Wit & 999 9
o T TR
OR / 3@t
(i) Who is an Entrepreneur ? Explain any four functions of an entrepreneur.

I B T 7 Th STHl &b fheel AR Bl Bl guid it |
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49 What is meant by ‘Wholesalers’ ? Differentiate between wholesalers and
retailers on any four bases.

o facharett & @ etfiura T 7 i feharelt Td Heay fasharett & dia fpeel I
YT UT 3T W NI |

50 Ramita, after passing her 10th class examination decided to open

a small eating joint of her own along with two of her friends in the name of

‘Apna Bhoj’. Each one of them contributed Rs. 80,000 towards initial capital.

They also decided to share profits equally and that each of them will be liable

for the acts performed by other two.

(a) Identify the form of business organization which was set up by Ramita
and her friends.

(b) Explain any four characteristics of that organization which is identified
in (a).

AT A 10 Y e Dbl TET UTE DB b 918 U &l Al b A HAadmt STa dst’

% M ¥ UH BRI-91 Tl @A & o fmar) 39 | 9@e | JEeTdl §eil % &9

# 80,000 &9 H1 INEM fAT| I @19 & GHE &9 T e BT B Hhadl b

3R T ¥ Y% o &1 g1 U T il o fqT STRErEl s

(a) T o THSP Al T WA GE™ e & @WEY Bl UEd™ Be |

(b) TE WA &I BIF IR fIAUAE FqF S (a) ¥ TEAET T ¥

51 (i) What is E-Commerce ? Explain any four advantages of E-commerce.
$—HH T BT & 7 S % heel AR @l BT qui it
OR / 3t
(i) What is meant by Industry ? Explain any four types of industries with
suitable examples.

SET | T U & 7 SUYA IQTE0N b |1 IENN % bl AR T Bl I
BT |
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(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours
only.

L1 I G G I

1
2

Tl YeT-UF & UEd Y UX SO STmAS orasd ford |
FUAT YT B W@ o fF U9 & HA YOf qUT YA DI Iadl o G & Al
YT U b G99 SHUX BU ¥ @ 9 B WAd N B o 6 U e w9 F T
JEgFTs gedt F el IR fawedt (A), (B), (C) A1 (D) ¥ ¥ &I Tk IAX gAAT & aT
A TS II-YRaE H HEI I faE |
JEgfTss el & wro-—ary gl el % Iax Mgifa sty & fiax & ¥ aggiTe
gl & fau e ¥ sy el fer s
ST-gRad ¥ vEaH-fag s ot fide wel & efafea @l W ogwdie faes
W et B g IEE SR
et Bl ulte B o hegpeiey, WIS BF, U, TICEM 9 B Y seiazitie Susmie
B T T BT SACT TE T
-0 | ol W YR % Haw e gigen & Rufa § SN ergae € " Enm|
AU ITX-RABT TX TT-UF B B F. 69/MAY/A, ¥ — |C| g
(@) WU Hhaw /RS F T AT oft, afy oy AR @ T & ¥ fRE we W
F I T WHA D
aish, f&dl, 9, demer, €@, aftd, w@ded, &S, da, A, Sfedr, e,
hiepull, AMTYL, ST, U, HAR, &b oK e
FuAT sa-gradl ¥ iy U gie § fod 6 omu few AW # I W@ w €|
(@) afy oy &S wd ool & orfafvea fopell o @ & S fo@d &, af weAl @l
e M e e | R e e B L G UG e e e

General Instruction / ™= 7891 :
1.

Answers of all questions are to be given in the Answer-Book given to you.

Yl G % A SATYRI < T ITX GRaenT F B fored |

15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y9951 I UG o 10T 15 feie o1 a9 f&am 7 8 | we—u=t @1 faaeor aiue & 02.15 591 fopar
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Note : (i) This question paper consists of 51 questions in all.

s
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(i)
(iii)
(iv)

(V)

(vi)

(1)

(ii)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - carry 2 marks each (with 2 sub-parts of 1 mark each).

Attempt these questions as per the instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(c) Q. No. 48 to 51 - Long Answer type questions carrying S marks each
to be answered in the range of 80 to 120 words.

4 U H A 51 U B

gt 9o arfard ¥

Ud% U % ofp e i ™ E

gz ‘o § wfafa ¥

9. @ 19 20 SEaead™ yeR & 9T (MCQs) ¥, 9% 1 &% & &1 9dh

9T # fau g 9R fqeedl # § W99 Suge faeed @l ghey faeer g

gz ‘v N uftafad ¥

Y. G 21935 —udeh 2 3l w1 & (1 3 &b &1 SU-HFN) | 3T Ul &

S yd% yT H faw Mo fdsmgEr difw

gie ‘@ A aftafa ¥

(@) 9. € 369 41 — 2 3l & orfaddy SAUTE YBR & U ©, ot
SaX 30 ¥ 50 gt § AT ¥

(b) W. ® 429 47 — 3 3%l & @Y IAUEH YHN & YT &, [ I
50 9 80 sl I §)

(c) W. § 489 51 — 5 3ipl & < ITAUED YR &b WA &, Fapr T
80 ¥ 120 sraf ¥ AT §I
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SECTION - A

g — A
1 refers to the process of buying goods and services. 1
(A) Business (B) Commerce
(C) Employment (D) Trade
qege ST et Y @O @) R & Gahie B 3
(A) TaEE (B) =t
(C) M (D) =M
2 Reliance Industries Limited is a company. 1
(A) Private (B) Public
(C) Subsidiary (D) NGO
g s=E fahes BT |
(A) frsit (B) wrdsifen
(C) wErE®s (D) wA.Se.
3  The insured is expected to disclose all the important facts related to 1
the property insured. Which principle is discussed here ?
(A) Mitigation (B) Indemnity
(C) Insurable Interest (D) Utmost Good Faith

SRS ¥ TUel ol Sl & {6 a8 it qeafa § geafed @ Heegui qei & ger
| el b Rgia ox ==l o g ¥ 7

(A) = (B) afrgfd
(C) dvmrT f&a (D) YTH HEHIEAT
4  Neeta saves Rs. 5,000 every month. Which type of Bank Account she 1
should open with the Bank ?
(A) Current Account (B) PPF Account

(C) Recurring Deposit Account (D) Savings Account

T X T 5,000 T SO §1 39 9% H fhE dE @ &% @ar wiedr aneg ?
(A) <] @rdr (B) Wrdiuw. @rmar

(C) emadl ST @ (D) w=a @
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5 In employment, return or reward is in the form of: 1

(A) Wage (B) Fee
(C) Profit (D) Loss
TR ¥, gfawd a1 3™ % ®9 W B B
(A) wigh (B)
(C) @y (D) =+
6 is the process of exchanging information and understanding 1
between two or more persons.
(A) Motivation (B) Leadership
(C) Cooperation (D) Communication
T A1 e ARl % S gaAl S §HH % STRM-US Sl ikl |
(A) o (B) g
(C) w=am (D) "=
7  Which of the following is a demerit of a partnership firm ? 1

(A) Unfair distribution of profits (B) Unlimited liability
(C) Unlimited Managerial ability (D) Dominance of one partner

el ®H &l f=faiag § 9 wF-91 99 3 7

(A) «¥ @1 srfad faara (B) oraitha faa
(C) orafd Y aar (D) TH WEER & 9Yd

8 X, Y and Z together made a donation of Rs. 80,000 to an organization 1
called Smart Healthcare Club. Can this contribution be called as partnership?
(A) Yes
(B) No

(C) Yes, if the amount contributed by X, Y and Z is equal

(D) None of these

X, Y 3R Z 7 faaidt @ teushay ode e @76 @l 80,000 T @7 I e
T 39 ANEN HI AR BT o Gl & 7

(A) =

(B) =@

(C) @, afy X, Y R Z g e & 5 T 90

(D) 7 ¥ ®ig
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9  Online-Banking provides service to customers : 1

(A) 8 hours in a day (B) 10 hours in a day
(C) 24 hours in a day (D) None of these
e ST el Bl e YeH A &

(A) T # 8 =we (B) &= ¥ 10 =we
(C) f&7 & 24 7w (D) 3 ¥ B3 T

10 Gokuldham Society is made by a group of people in which these members 1
are to construct or buy houses of reasonable cost. This is an example of :
(A) Cooperative Housing Society (B) Cooperative Credit Society
(C) Marketing Cooperative Society (D) Producer’s Cooperative Society
MPaem™ TEE A & Th G996 &0 a9 T3 ad 3 939 Sfad @ uX =%
TN [ GO ® g9 T | I§ 39hT T SV &

(A) TEHIl AEE FiHid (B) @E®r FoT |ty
(C) fquor wEarll |iHid (D) SdEs GEhrll aitifd
11  “Advertising is any paid form of non-personal presentation and promotion 1

of ideas, goods and services by an identified sponsor.” Who stated this ?
(A) Australian Marketing Association

(B) China Marketing Association

(C) European Marketing Association

(D) American Marketing Association

“fgmmoe et +ff X @1 A fpe g AR-=afRra wEgdie T o fRel weE o
g & foaml, axgett ok danet @1 yar ¥ u% R wer?

(A) emfaarg faum €=

(B) 9 fauum d@g

(C) gUm™ fquem @9

(D) et faqum =

12 media can give 24 hour exposure to the public eye. 1
(A) Television (B) Print
(C) Internet (D) Flex Board
Hifsar Far & 24 "9 AEGH T bl ¢ |
(A) T B) fie
(C) dexie (D) W di
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13 Which of the following is not a responsibility of consumers ? 1
(A) Seeking redressal for grievances
(B) Being aware of their rights as consumers
(C) Checking the quality of goods before purchasing
(D) Using pirated software and media
frfafad o 9§ dF—a1 B ITFERIS B S T8l 8§ 7
(A) fymral @1 e &
(B) UMl & ®Y § 31U AUBRI & Wfq ARk BT
(C) ®ieT ¥ U8 MM &l TUEdl Sl Sid BT
(D) YT Aeday iR Hifear &1 ST &I

14 Arun mortgages his factory to Varun and gets loan from him. Varun gets 1
it insured for fire. Which principle of insurance is applicable here ?
(A) Principle of Insurable Interest
(B) Principle of Utmost Good Faith
(C) Principle of Indemnity
(D) None of these
STEYT AT HR@HT I& HI {RET [T & 3R SHY W4 ol & | &0 4 & § 91

% foTg S ST waran| gf a1 @ B fAEid an] e § ¢

(A) “mmErg f&q & Re (B) 9XH HWEHTEAT &1 fHEid
(C) afayft @ Resfa (D) T ¥ @5 T
15 For heavy equipment, which of the following channels is more relevant ? 1
(A) Zero-Level (B) One-Level
(C) Two-Level (D) Three-Level
I USRI & foQ, Frefaiad 3 @ SF-91 o9 9 offds Tt § 7
(A) La-—wT (B) uwH-w
(C) T-& (D) dF-wT
16 Entrepreneurship is useful to the organization because of . 1

(A) Development of managerial capabilities
(B) Creation of organization

(C) Improving standard of living

(D) All of these

AT e & T % B IYARN T
(A) veEya eHaret &1 faem (B) wwed @1 i
(C) Sie—wX ¥ gar (D) ¥ g
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17 An occupation with which opportunities for advancement or promotion 1
can be availed off in life is known as:
(A) Career (B) Wage-employment
(C) Self-employment (D) All of the above
95 Agad e AT § Sfied # Sl A1 Uafa & STEEs U fhu S wend ¥,
S HEd &
(A) HER (B) gIdaq USFIX
(C) @IS (D) U g

18 The right to
that are harmful to one’s life or health.
(A) Consumer Education (B) Safety
(C) Seek redressal (D) Information

1 STt fopdl Sfer & e a1 @reed & fog &iiere Iamel ¥ giad @
&% arfer Bl Hafia &ear Tl

refers to the right to be safeguarded from products 1

(A) o fren (B) gran
(C) fwamur &t @i & D) o
19 It was on 24t December that the Indian Parliament enacted the 1
in 1986.
(A) NREGA Act (B) Right to Information Act
(C) Consumer Protection Act (D) None of the above
24 feamR w8 ARAE d9e 7 1986 | i femam
(A) om ettt (B) g &1 SMfuer Stffam
(C) Suier "o arfafaw (D) I § ¥ @ig ol
20 Mail Order Selling is a channel of distribution. 1
(A) Direct (B) Indirect
(C) Sole (D) None of these
A e Afer fqawor &1 ua oA 2
(A) va& (B) aw@a
(C) Thd (D) 3 ¥ ®ig
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SECTION - B

gog — q
21 Fill in the blanks: 1x2=2
(a) Entrepreneur takes in converting ideas into action.
(b) An entrepreneur should have the to take timely decision.
eI IS U
(a) TN e B dRaE F9gad & war 8|
(b) UH ITW F UE GHT W T @ @ TEI AR |
22 Mr. Rajeev, a production manager is a patient of diabetes for which he takes 2

medicines regularly. One day, on his tour to Ambala, he met with an accident
and was hospitalized. Due to doctor’s negligence a delicate nerve of his left
leg was cut rendering him crippled throughout his life. Identify the consumer
right that has been violated by the doctors under the Consumer Protection Act,
1986 in the above situation.

A i, T ST EEE & X wgwE & N, frads fag 3 Frafa w9 qargat
T 2| U oA, SiETar & S U Il Gl B Mg 3 I= ST ¥ Wl el gsT|
ST ] ATILATE! % BT I U UX BT T AN[® 99 B T3, o I Seawy
% fTQ o7 &1 U IWied Rafq o ST W@ aiftem, 1986 % ded sty
B SwiEd [T T SUHIRT e &l qear &Y |

23  Write True or False: 1x2=2
(a) A distribution channel is the path by which all goods and services must
travel to arrive at the intended consumer.

(b) Retailer channel member transacts with the final consumer.

T a1 s fefay:

(a) UH faawor I9a @& wnt ¥ frad wregw & @t axgett ofk dame &t sfesa
SUHIET qoh Uga b g AT HEAT AMMey |

(b) Weax fahar I9@ e AT UTed & 1T WG BT o |
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24 Give answer in one word: 1x2=2

(a) Can an illiterate person be issued Debit Card ?

(b) Name the system which can be used for both fund transfers and bill
payments.

T 9T& ¥ IAT QI

(a) T Nfifaa =t &t Sfee w1 W fohan S wehar & 7

(b) SH YA &1 A oy fae Swd ke Zewy ofk faa e 9 & fog
foran T weRat %1

25 Ajeet started his Travel Agency in the year 2020 by taking a small room on 2

rent in Shimla. He invested money and efforts to build his business. Quality

and timely services provided by his Travel Agency made him popular in Shimla.
Identify the form of business organization owned and operated by Ajeet.

TSt = famem ® o 2020 #F A 9 Ue BT HAT AR ST oad Yol & Bl |
SR O FIHd 9 % [T T iR JaE @Y | Sl Jad sl g SN

TS TR S T UX Garell | 9% R § wienlie 991 ) el % @i 8T
O I FIETE ST & @R Bl Iga BIT |

26 Mrs. Shalini Gupta got her life insured by ‘Bajaj Life Insurance 2

Company Ltd.” and ‘Life Insurance Corporation of India’ for Rs. 20 lakh and

Rs. 10 lakh respectively. She survived upto the end of the fixed period. What

type of ‘Insurance Contract’ is indicated in Mrs. Shalini Gupta’s insurance
contract in which two insurance companies are involved ?

A ST T+ STUAT STe 7 ToTel A18% 3991 HAT fafies’ ik ‘wRad™
Siee 1 R § e 20 9T B9 S 10 @ B9 @ Hian | 98 faiia srafy

% 3 o Siitad <o | AT el [T & 1 STeg ¥ e T &1 S egay’
qgtra e ¥ fred < S et e )

27 Now-a-days we have such a digital payment system under which the user 2
can do financial transaction by presenting his Aadhaar Number and Finger
Print / Iris. The user can use this facility only when his bank account is linked
with the Aadhaar Card. Because of Biometric Authentication, it is the safest
digital payment system. Name this payment system.

STTSTehe AT U THT fSfied 1a uomell @ fieeh d8d SuanTehdl a1 SIem T
R R e | amsfia wgd @i (o W e B ahal & | SUAMTel 5@ Gl &0
STANT TH HY ThaT & I SHET S @Il SER Bre  fofeh &1 | TAMICH THONBIT
% BT I8 T GAUAd A YUl &1 39 YA JOmell & A Saqisy |

69/MAY/4—215_C|| 10 I m AW [ Contd...



28 Fill in the blanks : 1x2=2
(a) Walking with a straight body posture shows .
(b) communication flows through officially prescribed channels.

o &= W
(a) WY R & Y& & T T FoTiar |
(b) YO et &9 § Hulfta a9l & Aeaw ¥ gaifed eidan 8|
29 Fill in the blanks: 1x2=2
(a) helps in educating customers about different products and
their uses.
(b) Advertising creates for new products.
o e w1
(a) el Bl fafH=1 SdEl o 396 SWRT & I 9 ffda & |
el BT ¢ |
(b) fasmom ¥ SaEl @ Yg7 &Il B
30 Best Answer Test: 1x2=2

(a) Suman needs leave at work. Which method of communication will she
use ?

(b) If a person communicates to other with the help of pictures, symbols,
diagrams, will it be considered visual communication ?

Td s IAT qUEA:

(a) AT B B U BZ DI @R & | I8 FAR Bl e Tt &1 Iu=nm & ?

(b) af #z =R fal, T, ool Sl T&™Ed § AL ¥ o &Il &, af &
39 399 HAR HET S ?

31 Write True or False: 1x2=2

(a) National Commission consists of a President and six other members.

(b) Consumer awareness is making a consumer aware of his rights and
liabilities.

I a1 o fafeaw -

(a) TS T ¥ U orege ol B 3 el B T

(b) TN SINTEhAT b1 37, IUNRTT bl 3Th MBI T Il &b ufe
STTEd BT & |
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32 Fill in the blanks: 1x2=2
(@) _ insurance is not covered under General Insurance.
(b) The maximum limit of time for fire insurance is  year.
o @ W
(@) w1 9w 91 % ST B} el i |
(b) ofte & & fouw am @ erfuaw @1 ad B

33 Usha and Kiran pursued their Masters Degree in Business Management 2

from a reputed institute of Mumbai. After completion of their studies, both of
them got engaged in different fields. Usha got a job at an Oil Refinery Industry
as a Junior Executive Finance. Kiran joined her family business of Textile
Industry at Ludhiana, Punjab. Name the type of industry, Usha and Kiran
worked as highlighted in the above case.

FET X fopRwr 3 g & yfafted dem ¥ faeme fede § A ol aifa @l
3T UeTs T T & G, I STAT—STET & | T TS | HUT Bl Th Mad NEE"d
=8 ¥ iR THlifed wiEad & 97 1) Aed fra w1 fewer giem, 9o
TS ST & U WA {ch aerd ¥ e &l T3 | $HU §a T¢ AWe 3 g
dE & TN § ST R f6yor 4 &M fopan, SHHT AW IazU|

34 State the full form of the following: 1x2=2
(a) NABARD (b) PIN
frefeiad @1 quf & ferd:
(a) T (b) =

35 Write True or False : 1x2=2

(a) The principle of ‘one person one vote’ applies to Sole Proprietorship.

(b) It is necessary to get every company incorporated, whether private or
public.

T a1 oe fafay
(a) UHA W@ § ‘Th Al U A’ &1 fasid @6 &idm 1
(b) YE® BRI BT AT BT AEYTD &, AR IE O B AT I+ |
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36

37

38
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SECTION - C
goe — |

What is meant by Consumer Protection ?

IqHISAT G0 § RaT AT B 7

Explain with an example how one can exercise the Right to be Informed ?

U ISR Aled TSR fh GO UM B SATUHRE B TN fhE yer fmar S
el & 7

®

(ii)

Vinod wants to start a business organization but he is afraid that in
case the assets of his business fall short of repaying the liabilities, his
personal assets could also be used to repay the liabilities.
Suggest Vinod which form of business organization he should start so
that his fear comes to an end.
e o aEiie T E T AEdl 8, Wibd 39 SX ¢ [ TR Iq%
T % G, IR B g & 00 &HA I8 T3, aF SHel il gt o
SRIE! @l g % [0 SEE Bl S Tl & | faFiE &l gana & i o9 f|
qTE B AGHIIS ST & BT Aoy qMMkh IHBT S TH & Y|

OR / 3@t
A new cooperative store has been set up in Chandigarh through registration
under Chandigarh Cooperative Societies Act. It was set up to provide
residential accommodation and civic amenities such as roads, parks, street

lights, parking etc. to its members at lower cost.

Identify the type of cooperative society being described in the above case.

TErTe WEdI it sfufem & Sl USiiyT % HIeEH ¥ 9ErTe § Ud A
FEHI R WA ohar T % | 3HenT WA 79 Ga@l &l 6H AT I STara
feg & 7 o)

SUgE AW H Al Gedi Qi % YhIK Bl gge Hi |

2
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39 Explain any two factors which gave rise to Consumer movement in India. 2

qRd & IUHIHAT ST Dl TH 9 dTel [bel A Bl BT Iu BT

40 State any two advantages of Newspaper Advertising. 2
R U {95 & @i 3 @1y SdiRu|

41 State any two functions of Consumer Organizations and NGOs. 2

AT S 8 TR-—TXI oAl & fehel a1 Bl Bl Sl ST |

42 What is E-Banking ? Explain any two types of E-Banking services. 3
$—SfhT @ Biar &7 3-Sfeh Farett & Bl A BRI B Iwi@ BT

43 What is meant by Television Advertising ? Explain any two advantages 3

of Television Advertising.

eiifare fasmom @ @ arfyur & 7 Telifas fasae & fepet @1 @l a1 avie it

44 Explain the importance of choosing a career. 3
HEX T B 785 GHHART|
45 (i) What precautions do you suggest to consumers while purchasing 3

medicines from the market ?
R | IA3a1 WG GAT 3119 IUHIRAS Bl FT QA i bl I
ECIEN

OR / 31y

(i) How does the Government of India protect the interests of consumers ?

Explain with three examples.

T TIBIT STHIERTST b fedi @l T B8 Bl & 7 oiF ITEL0N &b T GHHART |
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(i)

(i)

(i)

(ii)

Banita, Promil and Veena do wholesale trade in readymade garments.
They got their godown insured for Rs. 10 lakh only by ‘Reliance General
Insurance Company’. A few days after getting the insurance, the godown
caught fire and the goods worth Rs. 6 lakhs only were destroyed. They
succeeded in getting compensation on their loss from the insurance
company. The firm sold off the half burnt goods and got Rs. 50,000
only.
Who will be the claimant of this amount, the firm or the insurance
company? Also explain the principle of insuranace applicable here in this
case.
i+, Wi 3 IHT (SIS HUS! &1 dith R BT & | IV 37q7 TMETT A
T A S 39816 BT | 91 39 A B0 H HIardl 91| S HEm
% 5 T 98 & MM F IR @ 15 R T TWT had B: TG S B T
TAHT TG & T S BT 30 JHA B XA U H 9% & TR |
®H A oYl W@l gO AW d9 fI@m ok s A 50,000 w9 fel |
TG YT &1 TESR BIF ST, BH AT ST HAAAT 7 36 AW § @] ST 6l RAgid
@ |l e B

OR / 3@t
Aman took fire insurance policy of Rs. 25 lakh for his factory at the
annual premium of Rs. 40,000. In order to avoid higher premium, he did
not disclose that a highly explosive chemical is being used in his factory.
Due to an accidental fire, his factory severely damaged. The insurance
company refused to pay the claim as it became aware about the highly
explosive chemicals. Can Aman claim compensation ? State the name of
“Principle of Insurance” violated here.
T 7 SO B b I 40,000 TUY it MREE 1R 25 @G T9Y @b A
I giferEr W | 35T IR 9§ S99 & AU, 399 g% gl qel har e sHent
hadl § it foemied TR 1 SUANT fRAT ST @1 §1 AhiAd ST @
% BT SHH! Wl Bl W JHAW oM | ST HHOT o FMET & H FTBR BT
foar it 39 orafye fqwples T@EAT & S W AT I AT A11 FT A
AT bl AT BT el & ? Tl Seotad 1Y MY ST & fasia’” &1 1 Iargyl

What is Business ? Explain any two characteristics of business.
TaaT e ®Ed § 7 g @l fel 91 fasiuarent @1 avie wifia|

OR / 3ty
What is meant by Water Pollution ? Explain any two causes of water
pollution.

A IO § R SITHUTT ¥ 7 S YU b Rl A Hn & avie i

3
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48 Pawan, Naresh and Dinesh are partners in a firm. Dinesh uses Rs. 25 lakh 5
of the firm, without any information to other partners, to purchase a house and
he earns a profit of Rs. 6 lakh on it.

(a) Which values are being violated here ?

(b) Tell, what will happen to the profit earned by Dinesh ?

(c) State any three features of partnership.

o, YT 3R Ay T v A gEer €1 Ay v & 25 Wrg 59 @ Sud, o
TRERT &I 97 SAY, TF 9 e 9 S & oK 38 I 38 6 a1g 894 &1 a4
Bl 2|

(a) T WX fopT I &1 Iowrad B @I R 7

(b) wdrEy, Ay TR Afsia @ T T B Y

(c) @RI & fhel dm fagvamet &1 Iei@ i)

49 (i) Explain any five factors you would like to consider while setting up 5
any small business.
5 Al U HRE JaN T o9 Bz W Bl FaE™ Wit & 999 9
¥ T TR |
OR / 3ty
(i1)) Who is an Entrepreneur ? Explain any four functions of an entrepreneur.

I B T 7 Tk STUl b fheel AR Bl Bl guid il |

50 (i) What is E-Commerce ? Explain any four advantages of E-commerce. 5
$—HY T BT & 7 3-HME % (hol AR ATH BT qUA B
OR / 3t
(i1)) What is meant by Industry ? Explain any four types of industries with
suitable examples.

SENT ¥ T AT ¢ 7 IUYeR] SATERVN b |1Y e b fhel AR YbRI & qUA
BT

51 What is meant by ‘Channels of Distribution’ ? Explain any four services 5
distributed through direct channel with example.

foaeor & I 4 w1 YT TP Y A0 & memw 9 faafia B W ard fer
AR Gl Bl ISR died THIRT|
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